p1 /7p+ (Forward)

0514 0.01 4 0.03 £ 0.02
048 0.02 4 0.03 £ 0.02
0484 0.02 + 0.03 £ 0.02
0.57 4 0.02 4+ 0.04 £ 0.02
0.46 4 0.02 + 0.03 £ 0.02
0.53 4 0.03 4+ 0.05 + 0.02
0444 0.02 £ 0.04 £ 0.01
0.50 4 0.04 + 0.07 £ 0.02
0.5440.03 +0.07 £ 0.02
0524 0.03 +0.07 £ 0.02
0.43 % 0.06 + 0.09 £ 0.02

0524 0.02 4 0.02 £ 0.02
0.56 4 0.02 4 0.03 £ 0.02
0.57 4 0.03 + 0.02 £ 0.02
0.57 4 0.02 4+ 0.03 £ 0.02
0584 0.02 4+ 0.04 £ 0.02
0.5340.03 +0.03 £ 0.02
0624 0.03 +0.05 £ 0.02
0.50 4 0.04 4+ 0.05 £ 0.01
0584 0.03 4 0.05 £ 0.02
0.6140.09 +0.06 £ 0.02
0.6240.08 +0.11 £ 002

0.57 4 0.01 2 0.03
0.6140.020.03 &

0,64 £ 005 £ 006
0.55 % 0.04 2 0.05 £ 0.02
0.46 % 0.05  0.04 £ 0.01
0.47 % 0.06 2 0.08 + 0.02

0.6140.02 4 0.02 £ 0.02
0.6840.02 4 0.04 £ 0.03
0684 0.02 + 0.02 £ 0.02
0.6240.02 4+ 0.02 £ 0.02
0644 0.03 +0.03 +0.02
0684 0.03 +0.03 + 0.02
0.6440.03 +0.03 £ 0.02
0.59 4 0.04 + 0.04 £ 0.02
0.5140.03 +0.03 £ 0.02
0.59 4 0.04 + 0.04 £ 0.02
0.58 4 0.08 + 0.07 £ 0.02

[10.60) [60.80] [50. 100] (100.120) (120, 140] (140.200)
046002 = 0.02 20,02 052 £0.03 £0.02£002 047002 = 003 ouz 019002002002 050 % 0.02 = 0.02 =002 057 % 0.02 % 0.02 £ 0.03
0.44£0.0 2 04640.02400240.02 0554001 4£0024002 05020032 002002 0.57%0.02 % 0.02 % 0.02
0.48 % 0.0: 05240024 0024002 049400240024002 0.55%0.02%002=0.02  0.63%0.02%0.02 % 0.02
0.49 % 0.0 04840024 0024002 053400340024002 050+ 0.02%0.02%0.02 0.9+ 0.02+0.02+ 0.02
0.4+ 0.0 048400240024 001 051400240024002 050+ 0.02%0.02%0.01  0.62%0.02+0.02+0.02
0,46+ 0.02 0474003 40024001 056400240024002 05120022 0.02%0.01 0.9+ 0.03 % 0.02 % 0.02
0.49 % 0.0 04940024003 40,02 050400240034002 05240032 002002 0.59 % 0.05 % 0.02 % 0.02
0.44£0.03 0.4640.03 40,03 40,01 05140024 0034001 0.55%0.04%0.03£0.01  0.52+0.07+0.04 £ 0.01
0.48 % 0.03 04340034004 %001 051400440034 001 0.53%0.04%0.03%0.01  0.61 % 0.05 % 0.06 & 0.02

4500 0.6040.0440.04 40,02 049400340034001 0.58%0.04%0.03%0.02  0.56 % 0.04 % 0.03 + 0.02
0.39 % 0.03 05240044004 40,02 043400440044001 0502 0.04%0.03=0.01  0.61 % 0.04 % 0.03 % 0.02
039+004—004—00| 043400540044001 042+ 0.04+0.04+0.01 0.54+0.07+0.05+0.02 057+007+005+002 0594008+0044002
T Jop (Backward)
[10.60) [60,80] 80, [100,120) [120,140] [140,180) (180, 250]
05T 002 £ 0012003 055 £0.02 £ 002 £ 002 0,56 £ 0.02 £ 0.02 061 £0.02 £ 0.02 £ 0.02

0.66 % 0.08 2 0.0
0.66 % 0.15 % 0.0




